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h(x) =3x> —7x2—22x+ 8

g(x) = 2> — 4x? + 18x — 36
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h(x) = 2x* — 11x3 + 222 — 44x — 24
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g(x)=—3x3+2x2—x—1

h(x) = 6x° + 8x% —10x — 15

flx) = —T11x* + 20x° + 3x2 — x + 18
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Write a polynomial function of least degree with real coefficients in standard form with the given zeros.
—2,4,and 3 —i

=3, 1 (multiplicity: 2), 4i

W3, =B, 1 44
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Write each function as (a) the product of linear and irreducible quadratic factors and (b) the product
of linear factors. Then (c) list all of its zeros.

k(x) = x> — 18x> + 30x% — 19x + 30

@) =x*+ 2 —26x% + 4x — 120

fl) =x° — 20" — 2¢3 — 612 — 99x + 108
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For each function, use the given zero to find all the complex zeros of the function. Then write the linear factorization of the function.

pl) = x* — 6x® + 2022 — 22x — 13

o(x) = x* — 10x% 4+ 3522 — 46x + 10; 2 + V3

hx) = x* — 8x3 + 26x2 — 8x —95: 1 —V6
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Find the domain of each function and the equations of the vertical or horizontal asymptotes, if any.

(x)_8_1f+_5 flay = X2

§ 42 +1 £ B—3a
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For each function, determine any vertical and horizontal asymptotes and intercepts. Then graph the function, and state its domain.

— 6 X
8§ =753 k(x) = X——x+ 10 r7_’f;' 10
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For each function, determine any vertical and horizontal asymptotes and intercepts. Then graph the function, and state its domain.

_3x2-3 . _x—6
flx) = 7 o i(x) = T
_,2_4
hix) = 2 .
() 5v-—5
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For each function, determine any vertical and horizontal asymptotes and intercepts. Then graph the function, and state its domain.

o 2% N _X24+3x—3
fo = 24+x—12 hix) = x+ 4

-"(Y) = xz —4x+ 1
P 2x — 3

35




e Jalu Al / Q-“JJ-‘M Jes https://t.me/mathbook12GEN https://t.me/alllaaamS%
050'25094‘4‘7 - =5 T e = - - & U"‘%"“:’J t'—‘i}-iuA‘}@_)b\AZ\_ﬁ
A8 yidie Jolee ) dead W1 L) Jigil ¥ Jol> 5ol

Agdlone ,S31g Gile WD) Ui o . adolad)) dolihy Cilammadly by duwl ) oyl dogdas g dds (W3 US B
For each function, determine any vertical and horizontal asymptotes, holes, and intercepts. Then graph the function and state its domain.
x’—14 x>+ 10x + 24
hx) = o) = 2=
x-—2%—8 ' S 12
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Solve each equation.
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* x—§8 =
20 i
x+3ﬁ4_0
Ox

xr—.2 6
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Solve each equation. AL D¥alagd) e US >

i 3x 9
> == =
X<—6x+8 x—2 xr—4
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Solve each inequality. ? 868 Lalited o slon] AJ Slolied! e JS Jo

¥4 — 6x— 30 >—3

(x —4)2> 4

Y+ 5+ 6 <20
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Solve each inequality. A Slalad! e JS d;'

3% —4x?—13x—6<0

2x> —10x < 2x — 16

2% + 7x* —12x — 45 = 0
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Solve each inequality. A Slolagd! e JS Js
x> +5x+8<0 ¥ +5x+8=0
x?—10x+25>0 x2—10x+25<0
¥+ 2x+5>0 x2+2x+5<0
¥ —2x—15 < —16 x?—2x—15> —16
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Solve each inequality. AL Slolagd! e JS Jo
4 2 x+6
1‘—6+x+1>0 4,\:—321
¥—x—11 de. A
g =9 :” X¥D

43




e Jalu LAM/Q-“JM‘ Jes https://t.me/mathbook12GEN https://t.me/alllaaam82

050-2509447 w _ Cilualy U_JUIA:A\} a ke 3138

S Aty Ja sl Lo 1 g¥l Jol> G ol

dag il a3l aal ) a8 32Y 600 AED géa sabai il by 4y 5l Aus jaall (DUa (g e pama o sl A JAI) a0l
e pundl 333 U pand 5 5um 510,50 ABD hsias 55 60 AED (e 5l o yiall SIS 4AlS5 415 230 Jind I ol 3
On aal OS5 Allen) A5 Sl Als ) 8 Gl A agde i () GOl dae oS st L s alag) 5 Lealadin) (S Al (i)
Al K140 AED

D AL S ey d S 25 Ak 5 e 1000 m? el Al

44




